CITY OF VINELAND, NJ

RESOLUTION NO. 2023-91

A RESOLUTION AWARDING A CONTRACT TO MATHIS CONSTRUCTION CO., INC., LITTLE EGG HARBOR, NJ, FOR 2022 CITYWIDE DRAINAGE – VARIOUS LOCATIONS, IN THE AMOUNT OF \$1,136,381.00.

WHEREAS, the City of Vineland has heretofore advertised for bids for the 2022 Citywide Drainage – Various Locations, in accordance with specifications on file in the office of the Purchasing Agent, COV BID #2022-57; and

WHEREAS, on January 31, 2023, bids were received, duly opened and read aloud, being referred to the Business Administrator for tabulation, evaluation, report and recommendation; and

WHEREAS, the Business Administrator has, under date of February 21, 2023 submitted a written report and tabulation of the bids received and has recommended that a contract for the 2022 Citywide Drainage – Various Locations, be awarded to Mathis Construction Co., Inc., Little Egg Harbor, NJ, in the amount of \$1,136,381.00, said bid being the lowest, responsive, responsible bid received and considered in the best interest of the City of Vineland; now, therefore,

BE IT RESOLVED by the Council of the City of Vineland that said contract for the 2022 Citywide Drainage – Various Locations, COV BID #2022-57, be and the same is awarded to Mathis Construction Co., Inc., Little Egg Harbor, NJ, on their bid in the amount of \$1,136,381.00, said bid being the lowest, responsive, responsible bid received and considered in the best interest of the City of Vineland, and the Purchasing Agent be and the same is hereby authorized and directed to issue purchase order contract for the same in behalf of the City; and

BE IT FURTHER RESOLVED that the Chief Financial Officer has certified that the funds for the contract to be awarded herein are available.

Adopted:		
ATTEST:		President of Council
71111111		
	City Clerk	



February 21, 2023

REPORT TO: THE MAYOR AND COUNCIL

RE: Proposals Submitted to the Purchasing Board 1/31/23

Dear Mayor and Members of Council:

Submitted to you herewith for your consideration is our evaluation of the proposals submitted to the Purchasing Board on January 31, 2023.

2022 CITYWIDE DRAINAGE – VARIOUS LOCATIONS

It is the recommendation of the City Engineer, which has the concurrence of the Purchasing Agent and the Business Administrator that a contract be awarded to the lowest, responsive, responsible bidder, Mathis Construction, Co., Inc., Little Egg Harbor, NJ, in the amount of \$1,136,381.00.

We trust that the above recommendation will receive your favorable consideration and that the recommended resolutions will be adopted as presented.

Respectfully submitted,

Robert E. Dickenson, Jr. Business Administrator

/rl





BID EVALUATION FORM

DEPARTMENT ADMIN / Engineering Date: 2/9/2023
The undersigned recommends that a contract be awarded for the following:
Bid Title: 2022 Citywide Drainage - Various Locations
2. Amount to be Awarded: \$1,136,381.00
Encumber Total Award
Encumber by Supplemental Release
3. Engineer's Estimate: \$1,622,110.00
4. Amount Budget: \$
5. Account Number to be Charged: G-02-57-801-2022-55000
6. Date Bids Received: 1/31/2023
7. Date to be Awarded:
8. Recommended Vendor: Mathis Construction Co Inc.
9. Is Recommended Vendor the Apparent Lowest Bidder? Yes No
10. Comments/Special Instructions:
11. Evaluation Performed by: Tyler Seifrit, PE
12. Approved By:
David J. Maillet, PE
13. Attached: (Check-Off List)
Tabulation of Bids Justification for Vendor Recommendation (if applicable) Evaluation Data (if applicable)
Send copies to: Purchasing Department Business Administration

PURCHASING AGENT RECOMMENDATION AWARD COV BID # 2022-57



Proposals were received and opened Tuesday, January 31, 2023 at 2:00 PM for 2022 Citywide Drainage-Various Locations from the following:

Mathis Construction, Co. Inc.:	\$1,136,381.00
Perna Finnagan, Inc.:	\$1,217,778.50
Gerald A. Barrett, LLC:	\$1,283,754.50
Charles Marandino, LLC:	\$1,349,895.00
South State, Inc.:	\$1,363,845.00
P&A Construction, Inc:	\$1,681,965.00
Arthur R. Henry, Inc.:	\$1,727,777.00

- Think Pavers
- Fred M. Schiavone
- Automatic Rejection- No acknowledge Receipt of addendum #3.

Comments: All vendors handed in all the necessary paperwork except, Think Pavers and Fred M. Schiavonne. They didn't acknowledge the Receipt of Addendum for #3. Mathis Construction, Co. Inc. was the lowest, responsive, responsible bid.

Recommendation: I recommend award to Mathis Construction, Co. Inc.

Jeanine N. Brownlee, QPA Purchasing Agent



TABULATION OF BIDS-COV BID 2022-57 2022 CITYWIDED DRAINAGE- VARIOUS LOCATIONS JANUARY 31, 2023

Engineers estimate - \$ 1,497,410.00

	Mathis Construct. Co. Inc.	Perna Finnagan, Inc.	Gerald A. Barrett, LLC	Charles Marandino LLC	South State, Inc.
	1510 Rte 539, Ste. 1	1921 E. Sherman Ave.	329 Lakedale Rd.	233 Main Avenue	РО Вох 68
	Little Egg Harbor, NJ	Vineland, NJ 08361	Berlin, NJ 08009	Milmay, NJ 08340	Bridgeton, NJ 08302
	8087				
BB, CAC, CEC	BB 10%	BB 10%	BB 10%	BB 10%	BB 10%
Surety	YES	YES	YES	YES	YES
Ownership Discl.	YES	YES	YES	YES	YES
Affirm. Action	YES	YES	YES	YES	YES
Check List	YES	YES	YES	YES	YES
Proposal	YES	YES	YES	YES	YES
Addenda	YES	YES	YES	YES	YES
Iran Disclosure	YES	YES	YES	YES	YES
List of Subs.	YES	YES	YES	YES	YES
Cert of Debarment	YES	YES	YES	YES	YES
TOTAL	\$1,136,381.00	\$1,217,778.50	\$1,283,754.50	\$1,349,895.00	\$1,363,845.00

^{*} Did not acknowledge receipt of Addendum #3 AUTOMATIC REJECTION.

Specifications also received by the following:

South State Inc.

Construction Bid Source

P&A Const. , Inc. PO Box 28	Arthur R. Henry, Inc. 3031 Ocean Hts. Ave.	Think Pavers Hardscaping, LLC	Fred M. Schiavone PO Box 416			
Colonia, NJ 07067	Egg Harbor Twp., NJ	125 Kings Hwy.	Malaga, NJ 08328			
•		Mt. Royal, NJ 08061				
BB 10%	BB 10%	REJECTED *	REJECTED *			
YES	YES					
YES	YES					
YES	YES					
YES	YES					
YES	YES					
YES	YES					
YES	YES					
YES	YES					
YES	YES					
\$1,681,965.00	\$1,727,777.00					

....

•

CITY OF VINELAND 2022 CITYWIDE DRAINAGE - VARIOUS LOCATIONS BID TABULATION

BID OPENING DATE JANUARY 31, 2023

MINERAL TRUST	CONTRACT INFORMATION	Description of the last of the		ENGINEER	SESTIMATE	建筑建筑	MATHIS CONSTRU	CHON COINC	50 March	- Tare 1	PERNA FINNI	GAN, INC.		多名的技术	GERALD A BAL	REIT FLC	
TIEM	DESCRIPTION	UNITS	CONTRACT	ENG.EST	ENG EST.	BID I	BIOTOTAL	% OF ENG. EST.	SDIFFERENCE (CONTRACTOR)	BID UNITERICE	BID TOTAL	THE PARTY	SDIFFERENCE (CONTRACTOR	BID UNIT PRICE	BIDTOTAL	12 OF ENGLEST	
NOU			學的學學的學	营养的政策	STATE OF STREET	のは世界は	25.000.00	E0 000	(SSE OOD OO)	\$ 29,970.00	\$ 29,970.00	59.94%	(\$20,030.00)	\$ 26,900.00	\$ 26,900.00	53.80%	(\$23,100.00)
1.1	TRAFFIC CONTROL	LS	1	\$50,000.00	\$ 50,000.00	\$ 25,000.00	\$ 25,000.00	79,70%	(\$25,000.00) (\$13,194.00)	\$ 117,000.00	\$ 29,970.00	180.00%	\$52,000.00	\$ 99,900.00	\$ 99,900.00	153.69%	\$34,900.00
2.1.1	CLEARING SITE	LS	1	\$65,000.00	\$ 65,000.00	\$ 51,806.00	\$ 51,806.00	91.11%		\$ 41.50	\$ 118,067.50	92.22%	(\$9,957.50)	\$ 48.00	\$ 136,560.00	106.67%	\$8,535.00
3.2.1	6"x18" CONCRETE VERTICAL CURB	LF	2,845	\$45.00	\$ 128,025.00	\$ 41.00			(\$11,380.00)			105.22%	\$120.00			121.65%	\$498.00
3.3.1	CONCRETE SIDEWALK, 4" THICK	SY	20	\$115.00	\$ 2,300.00	\$ 159.00	\$ 3,180.00	138.26%	\$880.00	\$ 121.00	\$ 2,420.00	105.22%	\$120.00	\$ 139.90	\$ 2,798.00	121.05%	\$490,00
3.3.3	CONCRETE DRIVEWAYS, REINFORCED, 6" THICK	SY	210	\$130.00	\$ 27,300.00	\$ 165.00	\$ 34,650.00	126.92%	\$7,350.00	\$ 165.00	\$ 34,650.00	126.92%	\$7,350.00	\$ 149.00	\$ 31,290.00	114.62%	\$3,990.00
3.3.5	CONCRETE GUTTER, REINFORCED, 8" THICK	SY	474	\$150.00	\$ 71,100.00	\$ 160.00	\$ 75,840.00	106.67%	\$4,740.00	\$ 165.00	\$ 78,210.00	110.00%	\$7,110.00	\$ 149.00	\$ 70,626.00	99,33%	(\$474.00)
3.3.6	CONCRETE ROCKER GUTTER, REINFORCED, 8" THICK, 3' WIDE	SY	50	\$175.00	\$ 8,750.00	\$ 214.00	\$ 10,700.00	122.29%	\$1,950.00	\$ 275.00	\$ 13,750.00	157.14%	\$5,000.00	\$ 149.00	\$ 7,450.00	85.14%	(\$1,300.00)
4.2.1	15" DIA. CORRUGATED POLYETHYLENE PIPE, SMOOTH WALL, <7" DEPTH	LF	290	\$175.00	\$ 50,750.00	\$ 150.00	\$ 43,500.00	85.71%	(\$7,250.00)	\$ 147.00	\$ 42,630.00	84.00%	(\$8,120.00)	\$ 129.90	\$ 37,671.00	74.23%	(\$13,079.00)
4.2.2	18" DIA. CORRUGATED POLYETHYLENE PIPE, SMOOTH WALL, <7" DEPTH	ĿF	3,220	\$200.00	\$ 644,000.00	\$ 110.00	\$ 354,200.00	55.00%	(\$289,800.00)	\$ 107.00	\$ 344,540.00	53.50%	(\$299,460.00)	\$ 139.90	\$ 450,478.00	69.95%	(\$193,522.00)
4.2.3	18° DIA. CORRUGATED POLYETHYLENE PIPE, SMOOTH WALL, ≥7' DEPTH	LF	50	\$225.00	\$ 11,250.00	\$ 345.00	\$ 17,250.00	153.33%	\$6,000.00	\$ 162.00	\$ 8,100.00	72.00%	(\$3,150.00)	\$ 139.90	\$ 6,995.00	62.18%	(\$4,255.00)
4.2.4	24" DIA. CORRUGATED POLYETHYLENE PIPE, SMOOTH WALL, <7' DEPTH	LF	115	\$250.00	\$ 28,750.00	\$ 200.00	\$ 23,000.00	80.00%	(\$5,750.00)	\$ 197.00	\$ 22,655.00	78.80%	(\$6,095.00)	\$ 149.90	\$ 17,238.50	59.96%	(\$11,511.50)
4.2.5	24" DIA. CORRUGATED POLYETHYLENE PIPE, SMOOTH WALL, ≥7' DEPTH	LF	30	\$450.00	\$ 13,500.00	\$ 470.00	\$ 14,100.00	104.44%	\$600.00	\$ 253.00	\$ 7,590.00	56.22%	(\$5,910.00)	\$ 159.90	\$ 4,797.00	35.53%	(\$8,703.00)
4.2.7	30" DIA. CORRUGATED POLYETHYLENE PIPE, SMOOTH WALL, <7" DEPTH	LF	410	\$450.00	\$ 184,500.00	\$ 100.00	\$ 41,000.00	22.22%	(\$143,500.00)	\$ 177.00	\$ 72,570.00	39.33%	(\$111,930.00)	\$ 179.90	\$ 73,759.00	39.98%	(\$110,741.00)
4.2.9	36" DIA. CORRUGATED POLYETHYLENE PIPE, SMOOTH WALL, ≥7" DEPTH	LF	30	\$350.00	\$ 10,500.00	\$ 545.00	\$ 16,350.00	155.71%	\$5,850.00	\$ 267.00	\$ 8,010.00	76.29%	(\$2,490.00)	\$ 189.90	\$ 5,697.00	54.26%	(\$4,803.00)
4.2.12	24" DIA. CORRUGATED POLYETHYLENE PIPE, PERFORATED, <7" DEPTH, 4"X4" STONE TRENCH	LF	340	\$250.00	\$ 85,000.00	\$ 195.00	\$ 66,300.00	78.00%	(\$18,700.00)	\$ 242.00	\$ 82,280.00	96.80%	(\$2,720.00)	\$ 149.90	\$ 50,966.00	59.96%	(\$34,034.00)
4.3.1	15" DIA. REINFORCED CONCRETE PIPE, CLASS V, <7' DEPTH	LF	190	\$105.00	\$ 19,950.00	\$ 100.00	\$ 19,000.00	95.24%	(\$950.00)	\$ 137.00	\$ 26,030.00	130.48%	\$6,080.00	\$ 139.00	\$ 26,410.00	132.38%	\$6,460.00
4.4.2	12" DIA. DUCTILE IRON CULVERT PIPE	LF	30	\$150.00	\$ 4,500.00	\$ 315.00	\$ 9,450.00	210.00%	\$4,950.00	\$ 177.00	\$ 5,310.00	118.00%	\$810.00	\$ 169.90	\$ 5,097.00	113.27%	\$597.00
4.4.3	16" DIA. DUCTILE IRON CULVERT PIPE	LF	30	\$160.00	\$ 4,800.00	\$ 380.00	\$ 11,400.00	237.50%	\$6,600.00	\$ 218.00	\$ 6,540.00	136.25%	\$1,740.00	\$ 199.90	\$ 5,997.00	124.94%	\$1,197.00
4.6.1	INLET, TYPE A, (<10' DEPTH)	UNIT	4	\$3,140.00	\$ 12,560.00	\$ 6,500.00	\$ 26,000.00	207.01%	\$13,440.00	\$ 3,950.00	\$ 15,800.00	125.80%	\$3,240.00	\$ 5,490.00	\$ 21,960.00	174.84%	\$9,400.00
4.6.15	INLET, TYPE C, (<10' DEPTH)	UNIT	1	\$3,500.00	\$ 3,500.00	\$ 7,000.00	\$ 7,000.00	200.00%	\$3,500.00	\$ 4,800.00	\$ 4,800.00	137.14%	\$1,300.00	\$ 5,490.00	\$ 5,490.00	156.86%	\$1,990.00
4.8.1	RECONSTRUCT INLETS	UNIT	1	\$1,050.00	\$ 1,050.00	\$ 1,500.00	\$ 1,500.00	142.86%	\$450.00	\$ 2,258.00	\$ 2,258.00	215.05%	\$1,208.00	\$ 1,590.00	\$ 1,590.00	151.43%	\$540.00
4.8.2	RECONSTRUCT MANHOLES	UNIT	3	\$1,275.00	\$ 3,825.00	\$ 1,500.00	\$ 4,500.00	117.65%	\$675.00	\$ 997.00	\$ 2,991.00	78.20%	(\$834.00)	\$ 1,590.00	\$ 4,770.00	124.71%	\$945.00
4.8.3	RECONSTRUCT COMBINED DRAINAGE STRUCTURE	UNIT	5	\$5,000.00	\$ 25,000.00	\$ 5,500.00	\$ 27,500.00	110.00%	\$2,500.00	\$ 5,248.00	\$ 26,240.00	104.96%	\$1,240.00	\$ 2,490.00	\$ 12,450.00	49.80%	(\$12,550.00)
4.10.1	RESET CASTINGS	UNIT	4	\$330.00	\$ 1,320.00	\$ 375.00	\$ 1,500.00	113.64%	\$180.00	\$ 585.00	\$ 2,340.00	177.27%	\$1,020.00	\$ 690.00	\$ 2,760.00	209.09%	\$1,440.00
4.12.1	REPLACE INLET CASTINGS & GRATES, TYPE	UNIT	23	\$1,500.00	\$ 34,500.00	\$ 1,115.00	\$ 25,645.00	74.33%	(\$8,855.00)	\$ 1,304.00	\$ 29,992.00	86.93%	(\$4,508.00)	\$ 1,490.00	\$ 34,270.00	99.33%	(\$230.00)
4.12.2	REPLACE INLET CASTINGS, GRATES & CURB PIECES, TYPE B	UNIT	22	\$1,500.00	\$ 33,000.00	\$ 1,485.00	\$ 32,670.00	99.00%	(\$330.00)	\$ 1,608.00	\$ 35,376.00	107.20%	\$2,376.00	\$ 1,890.00	\$ 41,580.00	126.00%	\$8,580.00
4.12.3	REPLACE INLET CASTINGS, GRATES & CURB PIECES, TYPE D	UNIT	37	\$1,500.00	\$ 55,500.00	\$ 1,370.00	\$ 50,690.00	91.33%	(\$4,810.00)	\$ 1,608.00	\$ 59,496.00	107.20%	\$3,996.00	\$ 1,890.00	\$ 69,930.00	126.00%	\$14,430.00

CITY OF VINELAND 2022 CITYWIDE DRAINAGE - VARIOUS LOCATIONS BID TABULATION

BID OPENING DATE JANUARY 31, 2023

CONTRACT INFORMATION FINAL FRANCE STIMATE					MATHIS CONSTRI	ICTION CO INC	福度	開始組織	PERNA FINN	GAN, INC.	L. Marian	建筑建筑	GERALD A BA	RREVELLE			
LIEM NO.	DESCRIPTION	UNITS	CONTRACT	ENGLEST UNIT PRICE	ENG EST TOTAL	BID UNIT PRICE	BID-TOTAL	XOFENG-EST	SDIFTERENCE, (CONTRACTOR ESTIMATE)	BID UNIT PRICE	BID TOTAL 1	%=0FENG-EST	STREET, CE (CONTRACTOR ESTIMATE)	BID FUND PRICE	HIDTOTAL	% OF ENGLEST	SDIFFERENCE (CONTRACTOR- ESTIMATE)
4.12.4	REPLACE INLET CASTINGS & GRATES, TYPE E	UNIT	2	\$1,500.00	\$ 3,000.00	\$ 1,485.00	\$ 2,970.00	99.00%	(\$30.00)	\$ 1,751.00	\$ 3,502.00	116.73%	\$502.00	\$ 1,690.00	\$ 3,380.00		\$380.00
4.12.5	REPLACE MANHOLE CASTINGS & COVERS	UNIT	1	\$500.00	\$ 500.00	\$ 1,385.00	\$ 1,385.00	277.00%	\$885.00	\$ 1,182.00	\$ 1,182.00	236.40%	\$682.00	\$ 1,500.00	\$ 1,500.00	300.00%	\$1,000.00
4.12.7	CAST IRON CURB PIECE, TYPE N	UNIT	16	\$330.00	\$ 5,280.00	\$ 550.00	\$ 8,800.00	166.67%	\$3,520.00	\$ 564.00	\$ 9,024.00	170.91%	\$3,744.00	\$ 575.00	\$ 9,200.00	174.24%	\$3,920.00
6.1.1	DENSE GRADED AGGREGATE BASE COURSE (RECYCLED CONCRETE), IF AND WHERE	CY	750	\$42.00	\$ 31,500.00	\$ 15.00	\$ 11,250.00	35.71%	(\$20,250.00)	\$ 0.50	\$ 375.00	1.19%	(\$31,125.00)	\$ 15.90	\$ 11,925.00	37.86%	(\$19,575.00)
7.1.7	HOT MIX ASPHALT 9.5M64 SURFACE COURSE DRIVEWAY ADJUSTMENT, 3° THICK	TON	8	\$200.00	\$ 1,600.00	\$ 200.00	\$ 1,600.00	100.00%		\$ 510.00	\$ 4,080.00	255.00%	\$2,480.00	\$ 290.00	\$ 2,320.00	145.00%	\$720.00
												-					
	TOTAL ESTIMATED PROJECT COSTS		> <	\$ 1000	1,622,110.00	><	\$ 1,136,381.00	A PART OF THE PART	記しはおおさ	> <	\$ 1,217,778.50	新州共和	NO STATE OF THE ST		\$ 1,283,754.50		AND THE RESERVE